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100&£1*01p | 51 | PM10 | 33 03 55 | PM10 | 47 | PM10 | 52 | PM10
10017 02p | 53 | PM10 | 50 | PM10 | 56 | PM10 | 52 | PM10 | 54 | PM10
1001703 | 42 | PM10 | 31 | PM10 | 52 | PM10 | 43 | PM10 | 43 | PM10
100£1°04p | 46 | PM10 | 51 | PM10 | 47 | PM10 | 49 | PM10 | 51 | PM10
100£1° 0598 | 49 | PM10 | 46 | PM10 | 51 | PM10 | 49 | PM10 | 50 | PM10
10017 06p | 43 | PM10 | 44 | PM10 | 44 | PM10 | 44 | PM10 | 49 | PM10
10017 07p | 35 | PM10 | 35 | PM10 | 34 | PM10 | 34 | PM10 | 41 | PM10
100£1* 08p | 40 | PM10 | 39 03 37 03 34 PC|3/|31’0 37 03
100£1°09p | 36 | PM10 | 36 | PM10 | 32 | PM10 | 37 | PM10 | 38 | PM10
100#1*° 10p | 31 | PM10 | 31 03 30 | PM10 | 30 03 32 P?/I3110
100&1% 11p | 24 | PM10 | 27 03 21 | PM10 | 25 | PM10 | 27 | PM10
100&1%12p | 27 | PM10 | 34 | PM10 | 20 | PM10 | 26 | PM10 | 33 | PM10
100#£1%13p | 48 | PM10 | 47 | PM10 | 53 | PM10 | 49 | PM10 | 51 | PM10
100#1% 14p | 43 | PM10 | 36 | PM10 | 50 | PM10 | 43 | PM10 | 43 | PM10
100#1% 159 | 34 | PM10 | 34 03 31 03 31 | PM10 | 38 | PM10
100#1% 16p | 41 | PM10 | 33 | PM10 | 35 | PM10 | 35 | PM10 | 45 | PM10
100&1* 17p | 39 | PM10 | 37 03 46 03 41 03 41 03
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100#1%*23p | 56 | PM10 | 62 | PM10 | 34 03 57 | PM10 | 61 | PM10
100#1%24p | 48 | PM10 | 52 | PM10 | 32 03 46 | PM10 | 53 | PM10
100£1%25p | 49 | PM10 | 37 | PM10 | 46 | PM10 | 44 | PM10 | 49 | PM10
100£1*% 26p | 33 | PM10 | 37 03 37 | PM10 | 35 03 37 | PM10
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100#1° 017 | 64 | PM10 | 54 | PM10 | 55 | PM10 | 58 | PM10 | 56 | PM10 | 50 | PM10
100£1702p | 70 | PM10 | 57 | PM10 | 59 | PM10 | 61 | PM10 | 55 | PM10 | 53 | PM10
100#17 037 [ 42 | PM10 | 53 | PM10 | 54 | PM10 | 59 | PM10 | 50 | PM10 | 42 | PM10
100#£1704p [ 57 | PM10 | 52 | PM10 | 52 | PM10 | 56 | PM10 | 55 | PM10 | 52 | PM10
100#1705p | 55 | PM10 | 58 | PM10 | 55 | PM10 | 56 | PM10 | 59 | PM10 | 50 | PM10
100#17 067 | 56 | PM10 | 50 | PM10 | 51 | PM10 | 55 | PM10 | 54 | PM10 | 50 | PM10
100#1707p | 48 | PM10 | 38 | PM10 | 38 | PM10 | 47 | PM10 | 50 | PM10 | 40 | PM10
100#£1708p | 36 | O3 | 45 | PM10 | 50 | PM10 | 44 | PM10 | 55 | PM10 | 38 | O3
100#17 097 [ 51 | PM10 | 42 | PM10 | 52 | PM10 | 48 | PM10 | 52 | PM10 | 36 | PM10
10017 107 | 43 | PM10 | 34 | PM10 | 38 | PM10 | 44 | PM10 | 40 | PM10 | 31 | 03
10017 11p | 30 | O3 | 28 | PM10 | 31 | PM10 | 34 | PM10 | 36 | PM10 | 29 | PM10
100#17 127 [ 49 | PM10 | 28 | PM10 | 29 | PM10 | 32 | PM10 | 35 | PM10 | 29 | PM10
100#17 137 [ 56 | PM10 | 61 | PM10 | 60 | PM10 | 61 | PM10 | 57 | PM10 | 52 | PM10
10017 14p | 52 | PM10 | 59 | PM10 | 57 | PM10 | 55 | PM10 | 58 | PM10 | 44 | PM10
100#17 159 [ 47 | PM10 | 37 | 03 | 32 | 03 | 44 | PM10 | 53 | PM10 | 38 | PM10
10017 167 | 45 | PM10 | 37 | 03 | 34 | PMI10 | 44 | PMI10 | 46 | PMI10 | 39 | PM10
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